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The following reading passage has seven paragraphs (A-G). Choose the
most suitable headings for paragraphs B-G from the list of headings below. Write
the appropriate numbers (i-ix) in the spaces provided.

NB There are more headings than paragraphs so you will not use all of them.
You may use any of the headings more than once.

1) Dangers of passive smoking
(1) EPA’s opinion of the lawsuit

(111) Activists’ opinion of the lawsuit
(iv) Tobacco industry vs. the EPA

(v) Chances of developing lung cancer
(vi) Stop the EPA
(vii) Importance of cigarette warnings

(viii) A groundless report

(ix) A report as good as any




Unit One Matching the Headings I

Example: Answer:

Paragraph A v

Paragraph B
Paragraph C
Paragraph D
Paragraph E
Paragraph F

S tn Aol R

Paragraph G

Tobacco Industry Fumes over Passive Smoking

A America’s tobacco industry has launched a fresh assault in its war against
the antismoking movement. Six tobacco groups are suing the US Environmental
Protection Agency, claiming that its recent report on the dangers of secondhand
smoke is based on sloppy science and is unfairly damaging their trade.
Antismoking groups say the lawsuit is a Canute-like attempt to stem a tide of
antismoking legislation sweeping the US.

B In January, the EPA released a long-awaited report on passive smoking. It
considered more than 30 studies around the world that compared the incidence
of lung cancer in nonsmoking women whose husbands smoked with that in
those whose husbands did not. The report concluded that wives of smokers had a
higher risk of developing lung cancer, and that the risk increased with the amount
of smoke inhaled. Passive smoking causes 3,000 deaths a year from lung cancer
in the US alone, it said. On the basis of this and other evidence—for instance,
that smoke is clearly carcinogenic when inhaled directly—the EPA added
environmental tobacco smoke to its list of known human carcinogens. The report
also concluded that secondhand smoke aggravates asthma and causes respiratory
illness and ear infections in children.

C  The tobacco industry countered that the study was shoddy and misleading,
characterised by “a preference for political correctness over sound science”. The
tobacco groups pointed out that the increased incidence of lung cancer was seen
only when the statistical test was relaxed from the usual 95 per cent confidence to
a less rigorous 90 per cent. They also accused the EPA of ignoring several studies

@

that contradict the agency’s conclusions.
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D  On 22 June, the six groups—Philip Morris, R. J. Reynolds Tobacco and four
groups representing growers and retailers—jointly sued the EPA to have the study
declared null and void, and to throw out human carcinogen classification, which
they claim goes beyond the EPA’s legal mandate. “Unfortunately, it is the tobacco
farmers, their families and their communities who—if the EPA is not stopped—
will have to pay for this misguided actions,” says John Berry, a lawyer for the
Council for Burley Tobacco of Lexington, Kentucky.

E The EPA stands by its report. “We’ve been hearing them for years,”
says spokesman Dave Ryan. “We think the suit is frivolous.” Major medical
groups also back the report. “This lawsuit is just another example of tobacco
conglomerates blowing smoke in the faces of Americans,” says Lonnie Bristow,
chair of the American Medical Association’s Board of Trustees. “An industry that
kills 450,000 citizens every year cannot be trusted.”

F  The charge of scientific manipulation is unfounded, says Morton Lippmann,
a lung expert from New York University who chaired an external review of the
EPA report. The 90 per cent confidence limit is reasonable given the difficulties
of studying secondhand smoke, he says, as was the omission of some recent
studies. “You could wait forever for this study and the next study and the next
study,” he says. In fact, the additional studies they’re so anxious to include
couldn’t possibly change the conclusion. The omitted study most often cited by
the tobacco industry found a 30 per cent increase in the risk of lung cancer in
passive smokers exposed to the highest levels of smoke. Lippmann also notes
that the EPA report, while the most complete, is not the first study to conclude

that passive smoking increases the risk of cancer.

G Antismoking groups think the suit is a desperate attempt to stop the
inevitable. Athena Mueller of Action on Smoking and Health points out that more
than 40 states now have at least some restrictions on smoking in public places.
And if a bill now before California’s senate is passed, smoking at work could
for the first time be banned across an entire state. Mueller doubts if the tobacco
industry’s lawsuit holds water. “This is a scientific finding,” she says. “You
can no more sue the EPA for this than you could sue Einstein for the theory of
relativity.”

®
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® Exercise 1

In this exercise, you will read a passage and then answer the questions that follow.

The suggested time for reading the passage and answering the questions is 15 minutes.

m
—
-
n

A Giant Step for Artificial Enzymes

1 Chemists in Britain have come a step nearer to building an “artificial enzyme”™—a
molecule which could speed up some reactions that are useful to industry.

2 Jeremy Sanders and his colleagues at the University of Cambridge have
designed and synthesized a large cyclic “receptor” molecule, which makes one such
reaction proceed almost 60,000 times as fast as usual. The receptor is similar to
another built last year by the same team (New Scientist, Science, 1 February 1992). It
consists of a ring of three porphyrin molecules linked by bridging chemical groups.
Each porphyrin molecule contains a zincion at its centre. The central cavity of the new
receptor is slightly smaller than before, and the researchers have also anchored pyridine
groups to two of the zincions to act as bonding sites.

3 Sanders and his colleagues have used their receptor to speed up and control the
products of the so-called Diels-Alder reaction, a mainstay of chemical synthesis. The reaction
occurs between two molecules—a “diene”, which has two carbon-carbon bonds separated by a
single bond, and a diene-seeking molecule, or “dienophile” . In the right conditions, these two
molecules transfer the electrons involved in their double bonds from atom to atom to form new
bonds that complete a ring of six carbon atoms with a single double bond. The creation of such
six-membered rings is the crucial first step in making many pharmaceuticals and agrochemicals.

4 Some Diels-Alder reactions are too slow to be useful industrially. The researchers,
therefore, designed their receptor so that it would hold the diene and dienophile, via the
pyridine (Py) groups, in the right positions to react quickly. According to Sanders, the
receptor acts like a “molecular reaction vessel in which the effective concentration of
reactants can be increased dramatically, so allowing a fast reaction” .

5 Normally, Diels-Alder reactions produce a mixture of two products. But because
in the receptor the reactants are forced into a specific orientation relative to each other,
only one of the two possible products can form.

6 Sanders hopes to modify the receptor to bring together in the cavity two
molecules that do not normally react. This could lead to be the synthesis of compounds
which everyday synthetic chemistry cannot make.

®
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7 The receptor differs from an enzyme or other catalyst in one important respect.
Only a tiny amount of an enzyme is needed to make a reaction thousands of times faster,
but large quantities of the receptor are needed to make a significant difference to the
speed of a reaction. However, Sanders is confident that in the future his team will be able
to increase the turnover or able to increase the turnover of reactants by designing new
features into the receptor. This would reduce the amount of receptor needed to speed up
a reaction by a given amount. The researchers report further details of their results in the
latest issue of Journal of the Chemical Society, Chemical Communications (p 458).

Questions 1-6

Match the following headings with appropriate paragraphs. Note there are more
headings than paragraphs. The first has been done as an example.

A. British chemists’ achievement (example)

B. The creation of six-membered rings

C. Products produced by Diels-Alder reactions

D. The large receptor molecule designed by British chemists
E. The drawback of the receptor

F. The Diels-Alder reaction

G. Fast reactions due to the receptor

H. Further efforts to be made on the receptor

Example: Answer:
Paragraph 1 A
1. Paragraph 2: 2. Paragraph 3: 3. Paragraph 4:
4. Paragraph 5: 5. Paragraph 6: 6. Paragraph 7:

Questions 7-9

7. How fast can the receptor molecule make reactions proceed?

8. What is the mainstay of chemical synthesis?

9. What is crucial to making many pharmaceuticals and agrochemicals?
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® Exercise 2

In this exercise you will read a passage and answer the questions that precede the

passage. The suggested time for reading the passage and answering the questions is 10

minutes.

Questions 1-6

The following reading passage has seven paragraphs (A-G). Choose the most
suitable headings for paragraphs B-G from the list of headings below. Write the
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appropriate numbers (i-ix) in the spaces provided.

NB  There are more headings than paragraphs so you will not use all of them.

You may use any of the headings more than once.

List of Headings
(i)  The spreading tea
(i1))  The history of tea growing
(ii1))  Changes of tastes for drinks
(iv)  Reducing cancer risks
(v)  The plant Camellia sinensis
(vi) A woman’s opinion of tea
(viil)  Where to find it
(viii)  Japanese tea
(ix)  More varieties to choose from
Example: Answer:
Paragraph A i
1. Paragraph B
2. Paragraph C
3. Paragraph D
4. Paragraph E
5. Paragraph F
6. Paragraph G




